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615 6,433 23,591,855

4 30 31,098

4 13 11,053

8 35 27,671

1 3 X

6 92 304,868

4 302 5,160,568

13 71 80,986
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23 208 360,650

17 179 273,882

13 59 45271

X ] 2 49 X
4 20 29,775

8 27 28,692
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Fi L T 5 20 19,565
= X H 7 22 18,410
£ I i) 3 20 22501
. 8 i) 5 35 93,281
= y2) 3F 1 1 X
I HT — - -
a H T — — —
T 1 24 X

= T 1 12 X
= HT 2 5 X
o % 1TH ~ - -
2TH - - -

T 1T H - - -
2TH - - -

X 1 3 X
& 3 9 4,582
£ 2 8 X
x 2 7 X
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B 1TH 7 51 79.658

2TH 3 28 16,721

3TH 15 80 102,358

4TH 6 32 16,995

5TH 1 7 X

6T H 3 40 108,118

7TH 2 6 X

8TH 13 142 200,118

W 1TH 5 157 326,392

2TH 13 54 90,906

3TH 13 109 237,710

4TH 10 106 215,675

X ¥ 1TH 2 11 X
2TH 3 13 13,012

3TH 5 578 5,156,547

3 T — — -
& 0 1TH 11 164,655
2TH 14 98 61417

e E 1TH - - -
2TH = = -

3TH = = -

= B 1TH 1 2 X
2TH = = -

e T — — -
= X 1TH 9 68 99,030
2TH 5 21 32,805

3TH 5 30 37,409

4TH 3 46 49,509

5TH 4 41 44516

6TH 13 168 302,137

7TH 5 40 54,330

% 1TH 9 33 26,737

2TH 2 5 X

3TH - = -

/g 17TH 5 47 91.756

2TH 3 37 98,216

3TH 2 7 X

4TH 7 87 86,854

F 1TH 7 516 1,053,657

2TH 4 51 55,809




it X _

e xE | HaemRE
BT BRI | e

(A) (FH)
= ¥ 3TBH 21 140 186,907
ATH 10 61 42 868
5TH 10 47 58,476
6TH 8 64 64,792
7TH 8 58 62,018
b 2 & 1TH - - -
2TH - - -
3TH 1 115 X
A4TH ~ - -
5TH ~ - -
6TH 1 1 X
E W b 1TH 5 20 27,064
2TH 9 48 28.390
3TH 11 90 288,721
£ M ® 1TH 6 104 140,366
2TH 12 151 138,838
K MM ® 1TH - - -
2TH 1 161 X
3TH 6 155 70,783
B 1E i) 3 6 1,424
/B X @ 1TH ~ - -
2TH 1 2 X
3TH 7 60 189,913
47TH 1 6 X
5TH 3 24 48 477
6TH ~ - -
i T 2 26 X
G i) 2 108 X
b& O Hy 2 8 X
B X m 1TH 5 42 39,492
2TH 6 30 32,149
X =E B 1TH 7 28 13,884
2TH 15 127 272,917
3TH 9 106 138,343
X £ ® 1TH 14 39 17,379
2TH 28 106 159,214
3TH 9 69 75,063
[N B HT 8 50 51,320
B % HT 4 39 16,341
M = HT 1 3 X
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(AN) (FH)
A #& B 1TH 3 16 13,211
2TH 3 99 76,568
1L I HT 7 40 38,421
5. | HT 5 54 261,763




